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General Mental Ability

Three of the following four words are alike in a certain way, and one is different. Pick the odd
one out.

● Pentagon
● Hexagon
● Heptagon
● Hendecagon

Ans - Hexagon

Arun is taller than Bhanu and Bhanu is taller than Charan but shorter than Dilip. Who is the
tallest among them?

● Arun
● Dilip
● Arun or Dilip
● Bhanu

Ans - Arun or Dilip

Four of the following five numbers belong to one group in a certain way and the other is
different. What is that different number?
84, 76, 56, 94, 24

● 84
● 56
● 94
● 76

Ans - 94

Pointing to a person, Rohit said, “He is the younger of the two brothers of the daughter of my
father’s wife.” How is the person related to Rohit?



● Nephew
● Brother
● Son
● Uncle

Ans - Brother

Satish read a book on Sunday. Sudha read that book one day before Anil but four days after
Satish. On which day did Anil read the book?

● Friday
● Saturday
● Thursday
● Tuesday

Ans - Friday

Look at this series: 22, 21, 23, 22, 24, 23, …. What number should come next?

● 22
● 24
● 21
● 25

Ans - 25

Three of the following words are alike in a certain way and one is different. Pick the odd one out.

Ohm
Ampere
Volts
Kelvin

Ans - Kelvin

In a certain code, 123 means “I am going”, 345 means “I was eating” and 146 means “She was
going”. Which of the following numerals stands for eating?

1
2
5
3



Ans - 5

In the following sequence of numbers, each number’s first and second digits are interchanged
and form a new set of numbers. If the new set of numbers is arranged in descending order,
which number will be the second in the set?
385, 472, 961, 528, 284

284
385
472
528

Ans - 284

In a row of 40 children facing North, Satish is eighth to the right of Ajay. If Ajay is 18th from the
right end of the row, how far is Satish from the left end of the row?

32
31
26
10

Ans - 31

Educational Interest

Which of the following is not one of the maxims of teaching for teaching at the school level?

● Simple to complex
● Abstract to concrete
● Known to unknown
● Direct to indirect

Ans - Abstract to concrete

A good teacher should be free from -

● Personal experiences
● Academic inertia
● Financial resources
● Community experiences



Ans - Academic inertia

Which of the following is not a characteristic of a good achievement test?

● Reliability
● Ambiguity
● Validity
● Objectivity

Ans - Ambiguity

Idea of collaborative learning has developed on the basis of concept of “Zone of Proximal
Development” propounded by __

● Jean Piaget
● B.F. Skinner
● Lev Vygotsky
● Noam Chomsky

Ans - Lev Vygotsky

Which of the following is not a characteristic of intrinsically motivated children?

● They find pleasure in engaging with their task
● They demonstrate high level of enthusiasm and energy during their activities
● They always succeed
● They like challenging task

Ans - They always succeed

Which of the following responsibility is not typically associated with the role of a teacher as a
teacher - counsellor?

● Providing emotional support to student
● Offering academic guidance
● Conducting psychotherapy sessions
● Assisting students in goal setting and career planning

Ans - Conducting psychotherapy sessions



General Knowledge

In which year did Bal Gangadhar Tilak go to jail for the crime of treason?

Ans - 1897

The body responsible for planning, implementation, and evaluation of educational programmes
of school education and teacher education at the State Level -

Ans - S.C.E.R.T

What is the objective of the National Literacy Mission set up on 5th May 1988?

Ans - Impart functional literacy to 80 million illiterate persons in 15 - 35 age group

The audible range of sound for an average human is in the frequency range -

Ans - 20 Hz - 20 kHz

Karewa is __

(i) Deposit of thick layer of moraine consists of clay and other substances
(ii)Famous for Saffron cultivation
(iii) A clay like brown deposit formed by the partial decomposition of plant matter in swamps and
subsequent wet acidic conditions

● Only (i) is correct
● Only (ii) is correct
● (ii) and (iii) are correct
● All are correct

Ans - All are correct


